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16 0 0 0|1 &t X a5 bl Al LT 2,410,000 2,410,000 0
17 0 0 0| TH &t = &t NPT MEzol exdl| 3,433,000 3433000 0
18 0 0 0| At bl At o Aot 36,191,000] 36,191,000 0
19 0 0 0| At bl Al mESNEY 64,500,000 64,500,000 0
20 0 0 0| At bl AriHl sk Abett| 15,046,000 16,396,000 1,350,000
o1 0 0 0| At bl Al M= A Abeibl| 4,000,000 4,000,000 0
2 0 0 0| AbeHl Attt Wor=x argdl|  5.800.000]  5.500.000] 430,000
23 0 0 0| At bl Attt pAERE A 1,000,000 1,000,000 0
24 0 0 0| At bl At A=A AHI| 2,900,000 2,900,000 0
25 0 0 0| At bl Attt s Aoty 2,500,000 2,500,000 0
26 0 0 oAbl Ari bl i)%féf:(gm 8.677.000  8.677.000 0
o7 0 0 oAbl Ari bl S A o  7,000,000] 7.000,000
28 0 0 0| Attt Attt g;ﬁ”gﬂ% A o  4,000,000| 4,000,000
29 0 0 0|z & N 530,000 530,000 0
30 0 0 oloibisl 2 JIE |ondiel 2 Jie|ortibl 30,000 51,0000 21,000
31 0 0 olonbibl % e |onbiel 2 iet|erea 13,000 13,000 0

TS 399,768,000 413,149,000 13,381,000 TETS 399,768,000 413, 149,000| 13,381,000
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